

Private Client

11/02/2023 08:30 AM | Install Day 1 11/03/2023 07:00 AM | Install Day 2 -

Rehearsal

11/03/2023 08:00 AM | Install Day 2 -

Reception

11/03/2023 06:00 PM | Friday Event

11/03/2023 11:30 PM | Strike Rehearsal

11/04/2023 08:30 AM | Install Day 3

11/04/2023 05:00 PM | Event Date

11/04/2023 05:30 PM | Saturday Event

11/05/2023 08:30 AM | Strike Day 1

11/06/2023 08:30 AM | Strike Day 2 - Return to LA

PO: Shipping Address: La Quinta Resort Palm Springs Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

| Description | | Qtty | Price | | Total |
|------------------|--|---------------------------------|------------|--------|-------------|
| Friday - Rehears | sal Dinner | | | | |
| | | Total Friday - Rehearsal Dinner | | ner | \$0.00 |
| Saturday - Cere | mony | | | | |
| | | Total Saturday - Ceremony | | \$0.00 | |
| Saturday - Cock | rtails | | | | |
| | Bali Stand Up Table - Round Wood Cane Back 3' X 42"H | 4 | \$275.00 | Т | \$1,100.00 |
| | Bali Bistro Table - Round Wood Cane Back 3' X 30 3/4"H | 4 | \$250.00 | Т | \$1,000.00 |
| A | Dining Chairs - Bali Wood & Cane Back 17 1/2â\ k 16 1/2â\ k 35â\ H | 40 | \$25.00 | Т | \$1,000.00 |
| | Boston Bar 12'D - TBD color with Rattan Inserts 144" ROUND x 43"H | 1 | \$4,800.00 | Т | \$4,800.00 |
| | Boston Straight Bar 8'L - TBD Color with Rattan Inserts 8'W x 30"L x 44"H - Color Change Upon Request | 1 | \$950.00 | Т | \$950.00 |
| | Straight Barback 8'L - White 8'W x 18"L x 8'3"H - Frame Color Upon Request | 1 | \$250.00 | Т | \$250.00 |
| _ | Boston Buffet Bar 12'L - TBD Color with Rattan Inserts 12'W x 31"L x 30"H - Color Upon Request | 1 | \$1,250.00 | Т | \$1,250.00 |
| | | Total Saturday - Cocktails | | ails | \$10,350.00 |

| Description | | Qtty | Price | | Total |
|--|---|---------------------------------|-------------|-----|------------|
| Saturday - Out | ter Reception Tent | | | | |
| | Perimeter Drape - Moss Green Velvet for (1) 164' x 12'H tent | 1 | \$5,600.00 | Т | \$5,600.0 |
| | Perimeter Drape - Pullback Treatment Sage Green Velvet Layered at entrances | 2 | \$1,850.00 | Т | \$3,700.0 |
| | Perimeter Valance - Moss Green Dupioni for (1) 164' x 12'H tent | 1 | \$1,200.00 | Т | \$1,200.0 |
| | Total Sa | Saturday - Outer Reception Tent | | ent | \$10,500.0 |
| Saturday - Rec | ception Tent | | | | |
| | FLAT Ceiling (peaked) Base Fabric - Ivory for a 100' x 164' x 12'H tent | 1 | \$25,000.00 | Т | \$25,000.0 |
| | Layered Sheer Ceiling Drape - TBD Color for a 100' x 164' x 12'H tent | 1 | \$32,750.00 | Т | \$32,750.0 |
| | Perimeter Pleated Base Fabric - Ivory for a 100' x 164' x 12'H tent | 1 | \$14,750.00 | Т | \$14,750.0 |
| | Perimeter Layered Sheer Drape - TBD Color for a 100' x 164' x 12'H tent | 1 | \$21,500.00 | Т | \$21,500.0 |
| | Perimeter Valance - TBD Color for a 150' x 95' x 12'H tent | 1 | \$2,500.00 | Т | \$2,500. |
| ar the | Chandeliers - Versailles Two Tier Basket Small cluster in the ceiling and around the ground **need to look at tent specs to confirm hanging points and weight loads** 44"W x 47"H - 70 Lb - 1,025 watts | 5 | \$850.00 | Т | \$4,250. |
| | Chandeliers - Versailles Three Tier Basket Small cluster in the ceiling and around the ground **need to look at tent specs to confirm hanging points and weight loads** 44"W x 53"H - Weight 80 Lb - 950 watts | 5 | \$950.00 | T | \$4,750. |
| A STATE OF THE STA | Chandeliers - Versailles Two Tier Basket Medium cluster in the ceiling and around the ground **need to look at tent specs to confirm hanging points and weight loads** 53"W x 57"H - 100 lb - 1,2275 watts | 5 | \$1,400.00 | Т | \$7,000. |
| | Chandeliers - Versailles Three Tier Basket Medium cluster in the ceiling and around the ground **need to look at tent specs to confirm hanging points and weight loads** 53"W x 63"H - Weight 106 Lb - 1,175 Watts | 5 | \$1,500.00 | Т | \$7,500. |
| | Stage Backdrop Panels - Oval Window (CUT) 4'W cut to 8'H TBD frame Color added mirror reflective decal; TBD on whether or not this can be 'smoked' or antiqued 4'W x 12'H | 2 | \$1,150.00 | T | \$2,300.0 |
| | Stage Backdrop Panels - Oval Window 8'h 4'W x 8'H TBD Frame Color added mirror reflective decal; TBD on whether or not this can be 'smoked' or antiqued 4'W x 8'H | 2 | \$950.00 | T | \$1,900.0 |

| Description | | Qtty | Price | | Total |
|-------------|---|---------------------------------|-------------------|--------------|--------------|
| | Sedona Bar 6'L - Faux Grey Stone 6'W x 30"L x 38"H | 2 | \$400.00 | Т | \$800.00 |
| | NEW Sedona 8'L Bars - Faux Grey Stone similar details to the originals but WILL NOT be the exact replicas | 4 | \$1,650.00 | Т | \$6,600.00 |
| | Curved Alcove Barback w. Shelves - Painted Solid Color 10'H x 22'W pricing subject to changed based on final design and dimensions 22'W x 18"L x 10'H | 1 | \$3,250.00 | Т | \$3,250.00 |
| | NEW Curved Alcove Barback w. Shelves - Painted Solid Color 10'H x 22'W pricing subject to changed based on final design and dimensions | 1 | \$15,650.00 | Т | \$15,650.00 |
| | Las Vegas (paintable) Square Dining Table 72"x72" covered in ivory velvet; same as sample table 72" x 72" - This Is Good For Covers | 10 | \$950.00 | Т | \$9,500.00 |
| | Dance Floor 28' x 24' Design TBD | 1 | \$7,500.00 | Т | \$7,500.00 |
| | Pasadena Straight Banquette - Oatmeal Chenille 6'L 6'W x 29"L x 38"H | 12 | \$375.00 | Т | \$4,500.00 |
| | NEW Banquette Cover - Ivory 6'L to cover the oatmeal banquettes | 12 | \$550.00 | Т | \$6,600.00 |
| | Accent Table - Madrid Portrack Marble Top 15"Diam x 26"H | 8 | \$115.00 | Т | \$920.00 |
| | Accent Table - Madrid Fuji Marble Top 13"Diam x 22"H | 8 | \$115.00 | T | \$920.00 |
| | Bruges Sofas - Right Chaise - Nude Boucle 10'W x 65"L x 25"H | 2 | \$1,000.00 | T | \$2,000.00 |
| | Bruges Sofas - Left Chaise - Nude Boucle 10'W x 65"L x 25"H | 2 | \$1,000.00 | T | \$2,000.00 |
| | Montreal Coffee Table - Gold Leaf Rectangular 4'W x 2'L x 18"H | 4 | \$250.00 | Т | \$1,000.00 |
| | Ottoman Pod 18"D - TBD Color 18"RND x 17"H - Cover Color Upon Request | 12 | \$50.00 | T | \$600.00 |
| | Accent Pillows | 20 | \$30.00 | Т | \$600.00 |
| | | Total Saturday - Reception Tent | | \$186,640.00 | |
| Services | | Total Saturd | iay - Neception 1 | CIIC | \$100,040.00 |

| Description | | Qtty | Price | Total |
|--|---|----------------------------|----------------------|------------------------------|
| | Installers: Travel Days (1) | 8 | \$350.00 | \$2,800.00 |
| | Installers: Travel/Install Nov 2nd | 14 | \$550.00 | \$7,700.00 |
| | Installers: Install Nov 3rd | 8 | \$650.00 | \$5,200.00 |
| | Installers: Install Nov 4th | 14 | \$550.00 | \$7,700.00 |
| | Installers: Stand By | 2 | \$350.00 | \$700.00 |
| | Installers: Strike Nov 5th | 14 | \$550.00 | \$7,700.00 |
| | Trucking: 24'L | 5 | \$650.00 T | \$3,250.00 |
| | Trucking: Fuel Surcharge | 5 | \$65.00 T | \$325.00 |
| | Accommodations: Hotel Rooms for (4) Nights **pricing subject to change until confirmed** | 7 | \$2,000.00 | \$14,000.00 |
| | Accommodations: Per Diem for (5) Days | 16 | \$345.00 | \$5,520.00 |
| | Manager: Onsite for (4) Days | 1 | \$3,800.00 | \$3,800.00 |
| | Manager Accommodations: Per Diem | 1 | \$276.00 | \$276.00 |
| | Manager Accommodations: Hotel Room for (3) Nights **pricing subject to change until confirmed** | 1 | \$1,650.00 | \$1,650.00 |
| | Dance Floor: Labor & Delivery | 1 | \$3,600.00 | \$3,600.00 |
| | Dance Floor: Accommodations | 1 | \$1,050.00 | \$1,050.00 |
| | Supplies: Misc | 1 | \$4,800.00 | \$4,800.00 |
| | Certificates: Flame Proofing | 1 | \$4,000.00 | \$4,000.00 |
| Please make checks payable to Revelry, Inc. Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it | | | Total Products: | \$207,490.00 |
| | | Total Labor/Services/Misc: | | \$74,071.00 |
| | | | Wear & Tear (0%): | \$0.00 |
| Notes | | | Packing (0%): | \$0.00 |
| | | | Taxes: | \$20,051.18 |
| | | | Discounts: Total: | (\$0.00) |
| | | | Payments: | \$301,612.18 (\$1,500.00) |
| | | | Balance: | \$300,112.18 |
| | | | Dalaile. | ψυσυ, 1 12.10 |